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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1-

8-

Growing older and more decrepit appeared to be an ---------- and necessary part of being
human.
1) inevitable 2) intangible 3) unforeseeable 4) unsentimental
I don’t really think I’d have the ---------- to finish a marathon!
1) concern 2) candor 3) endurance 4) autonomy
Her marriage started to improve once her husband finally ---------- he had an anger
problem and bhegan to take counseling.
1) identified 2) emerged 3) hesitated 4) acknowledged
Society is an interdependent system that ---------- widespread cooperation to function.
1) proceeds 2) requires 3) fascinates 4) conveys
Our blue planet is a ---------- . Life depends on water, yet in its natural form, the water in
the oceans will not sustain us because we cannot drink salt water.
1) refuge 2) remedy 3) paradox 4) vacillation
I thought I was buying a/an ---------- native Indian carving, but discovered later that it
was machine-made.
1) genuine 2) definitive 3) secretive 4) artificial
The entrepreneur had a well-deserved reputation for ---------- , having accurately
anticipated many changes unforeseen by established business leaders.
1) modesty 2) hindsight 3) prescience 4) extroversion
Studies of longevity among turtles are sometimes ---------- by the fact that the subjects
live so long that researchers retire before the studies can be completed.
1) stabilized 2) hampered 3) diversified 4) veritied
Kevlar is a ---------- new material which is used for everything from airplane wings, to
bullet-proof vests, to hockey sticks.
1) prescriptive 2) versatile 3) dormant 4) derivative

10- If exploitation of the planet’s resources continues as at present, then the lifestyle we
currently enjoy ---------- the risk of causing significant damage to the world.
1) proposes 2) puts 3) shapes 4) runs
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PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

Scientists and philosophers have been grappling with the relationship between
language and thought for centuries. There have always been (11) ---------- that our
picture of the Universe depends on our native tongue. Since the 1960s, however,
(12) --mmmmmee- the ascent of thinkers like Noam Chomsky, and a host of cognitive
scientists, (13) ---------- that linguistic differences don’t really matter, (14) ----------
language is a universal human trait, and that our ability to talk to one another owes
more to our shared genetics (15) -----—--—-—-- . But now the pendulum is beginning to
swing the other way as psychologists re-examine the question.

11- 1) that they argue 2) those who argue
3) an argument by those 4) arguing those who
12- 1) with 2) for 3) by 4)in
13- 1) whose consensus 2) who has the consensus
3) the consensus has been 4) is the consensus
14- 1)a 2) the 3) what 4) that
15- 1) and our cultures vary 2) than to our varying cultures
3) than our cultures that vary 4) as to our varying cultures

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

One of the primary controllers of renal tubular calcium reabsorption i1s parathyroid
hormone. With increased levels of this hormone, there is increased calcium
reabsorption in the Henle and distal tubules, which reduces urinary excretion of
calcium. Conversely, reduction of this hormone promotes calcium excretion by
decreasing reabsorption in the Henle and distal tubules.

In the proximal tubule, calcium reabsorption usually parallels sodium and water
reabsorption. So, in extracellular volume expansion or increased arterial pressure, both
of which decrease proximal sodium and water reabsorption, there is also reduction in
calcium reabsorption and increased urinary excretion of calcium. Whereas, with
extracellular volume contraction or decreased blood pressure, calcium excretion
reduces, due to increased proximal tubular reabsorption.

Another factor that influences calcium reabsorption is the plasma concentration of
phosphate. An elevation in plasma phosphate stimulates parathyroid hormone, which
increases calcium reabsorption by the renal tubules, thereby reducing calcium
excretion. The opposite occurs with decrease in plasma phosphate concentration.
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16-

18-

19-

20-

Calcium reabsorption is also stimulated by metabolic acidosis and inhibited by
metabolic alkalosis. Most of the effect of hydrogen ion concentration on calcium
excretion results from changes in calcium reabsorption in the distal tubule. A _hallmark
of glomerular disease is an increase in the amount and sizes of filtered proteins, with a
concurrent increase in the proximal tubule lysosomal system that is visible by light
Mmicroscopy.

Which of the following statements about the controlling effect of parathyroid hormone is True?

1) Increasing hormone results in raised urinary excretion of calcium.

2) Its raising, decreases calcium reabsorption from the thick ascending loops of Henle
and distal tubules.

3) Its reduction causes increase in calcium excretion and reabsorption by the Henle and
distal tubules.

4) Decreasing hormone induces reduction in calcium reabsorption from the distal and
Henle tubules.

All of the following about the functions of proximal tubule are True EXCEPT ---------- A

1) decreased arterial pressure results in decreasing calcium, sodium and water reabsorption

2) elevation of arterial pressure leads to reduction in sodium and calcium reabsorption

3) expansion of extracellular volume causes more urinary calcium excretion

4) contraction of extracellular volume could decrease calcium excretion

Reduction in the plasma concentration of phosphate can result in ---------- :

1) more calcium excretion by urine

2) increasing parathyroid hormone secretion

3) decreasing calcium reabsorption by the kidney

4) increases calcium reabsorption by the renal tubules

According to the text all of the following options are correct EXCEPT ---------- :

1) hydrogen ion concentration could affect on calcium excretion

2) metabolic acidosis can induce reduction in reabsorption of calcium

3) calcium reabsorption could be affected by concentration of hydrogen ion

4) metabolic alkalosis can prevent reabsorption of calcium by distal tubule

In the last paragraph, the word “hallmark” (of glomerular disease) refers to its ---------- :
1) capacity 2) incidence 3) sign and trace 4) pathogenicity
PASSAGE 2:

N-methyl D-aspartate receptors play crucial roles in many neurological functions. In central
synapses, these receptors regulate the structural and functional plasticity of synapses,
dendrites, and neurons by activating a series of calcium-mediated signaling pathways. Some
of the neurochemical mediators of central sensitization include cholecystokinin, angiotensin,
galanin, L-glutamate and L-aspartate. These substances trigger changes in membrane
excitability by interacting with G-protein coupled receptors, activating intracellular second
messengers, which in turn phosphorylate substrate proteins.

Through sending fibers down the spinal cord by supraspinal structures to inhibit pain at the
level of the dorsal horn takes place for inhibition of the pain. These include peri aqueductal
gray, reticular formation, and nucleus raphe magnus. Axons from these structures act pre-
synaptically on the primary afferent neurons and post-synaptically on second-order neurons or
interneurons. These inhibitory pathways utilize monoamines, such as noradrenaline and
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21-

24-

25-

serotonin, as neurotransmitters and terminate on nociceptive neurons in the spinal cord as well
as on spinal inhibitory interneurons which store and release opioids.

A common pathway leads to increased intracellular calcium concentration. For example
glutamate and aspartate activate the N-methyl D-aspartate receptor. Stimulation of
ionotropic N-methyl D-aspartate receptors causes intraneuronal elevation of calcium, which
stimulates nitric oxide synthase and the production of nitric oxide. This chemical has been
implicated in the development of hyperexcitability, resulting in hyperalgesia, by increasing
nociceptive transmitters at their central terminals.

Neurochemical mediators of central sensitization use the following routs for membrane
excitability EXEPT ---------- :

1) interacting with G-protein coupled receptors

2) regulation of calcium-mediated signaling

3) activating intracellular second messengers

4) phosphorylate substrate proteins

Which one is NOT considered as a supraspinal structure being involved in pain inhibition?

1) Periaqueductal gray 2) Reticular formation

3) Nucleus raphe magnus 4) Nociceptive transmitters

In inhibitory pathways, which pair of monoamines is being utilized as neurotransmitters?
1) Noradrenaline and serotonin 2) Serotonin and adrenaline

3) Adrenaline and noradrenaline 4) Different kinds of neurotransmitters
Activation of the N-methyl D-aspartate receptor takes place by --------- A

1) gluconate and aspartate 2) aspartate and glutamate

3) glutamate and cyclamate 4) cyclamate and aspartate

Which can be resulted from production and activation of the nitric oxide?

1) Increasing allergic reactions 2) Elevating sense of pain

3) Decreased level of excitability 4) Inhibiting nociceptive transmitters
PASSAGE 3:

Microscopic investigation of bone biopsies will reveal broad unmineralized osteoid seams,
formed by a large amount of osteoblasts, whereas osteoclasts are seldom attached to
mineralized bone. The diagnosis can be confirmed by laboratory investigation. Hypocalcaemia
1s secondary to decreased intestinal calcium absorption and bone resorption, which will cause
hyper parathyroidism and hypophosphatemia due to the same causes as the hypocalcaemia plus
the hyper parathyroidism induced hyper phosphaturia. The plasma concentrations of the
vitamin D metabolites tend to be reduced.

In the case of decrease in blood calcium, amongst the metabolites of the vitamin D,
concentrations of some metabolites in plasma especially 250HvitD3 and 24,25(0OH)2vitD3 will
be very low, whereas 1,25(0OH)2vitD3 may be in the low-normal range. Since the main role of
1,25(OH)2vitD3 1s mineralization of newly formed cartilage and osteoid, hypovitaminosis D in
young growing animals is radiologically characterized by wide growth plates (this is contrary to
alimentary hyperparathyroidism), and by thin cortices with possibly curved bones and/or
greenstick fractures. In cases where vitamin D deficiency is the only abnormality, vitamin D
supplementation up to 500 IU per kg body per day is sufficient. In most cases the daily
requirements of a variety of nutrients, vitamins, and minerals will not be met, and thus a
complete, balanced commercially available dog or cat food should be advised.
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27-

29-

30-

Which statement about the bone mineralization is NOT compatible with the text?

1) Biopsies of bone tissues are very helpful

2) Presence of many bone active cells is indicative

3) Microscopic detection of mineralization 1s possible

4) Clinical assessment of mineralization is a reliable proof

Hypocalcaemia can lead to the following biochemical indices EXCEPT ---------- :

1) decreasing the metabolites of vitamin D

2) more secretions of parathyroid gland

3) increase in phosphate content of urine

4) elevation of phosphate in blood

As mentioned in the text, which of the following situations result in hyper phosphaturia?
1) Increased parathyroid secretions and dropped calcium

2) Increasing blood calcium and parathyroid secretions

3) Reduction of phosphate in blood

4) Decreased calcium in blood

In hypocalcaemia, plasma concentrations metabolites of the vitamin D will be minimal?
1) 1,25 (OH) 2vitD3 2) 1,24 (OH) 2vitD3 and 250HvitD3

3) 250HvitD3 and 24,25 (OH) 2vitD3 4) 24,25 (OH) 2vitD3

The X-Ray symptoms of reduced vitamin D in growing animals are as follows EXCEPT

1) more growth plate area 2) fractures with curved bones
3) less thickness of bone cortex 4) high density of bone matrix
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